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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to
you.

All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 69/MAY/4, Set—| A | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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General Instruction / ™= 391 :

1. Answers of all questions are to be given in the Answer-Book given to you.

Ul 99T % AL SATYR! < T ITX GRaawT 7 & foed |

2. 15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y91 I Ue o 17T 15 feie o1 a9 feam man | oot a1 faaeor aue & 02.15 51 fomar
ST 1 02.15 1 & 02.30 St T BT bad 99797 & g 3i 36 1Aty & e J Sa—gRaa!

X B3 3 el feE )
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MATHEMATICS

T
Q211)
Time : 2% Hours] [Maximum Marks : 85
w21 wwe] [quiie : 85
Note : (i) This question paper consists of 44 questions in all.
(i1)) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section A consist of
(a) Q. No. 1 to 17 - Multiple Choice type questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of
the four options given in each of these questions.
(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
2 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28
carries 5 marks (with 5§ sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions
18 to 28.
(v) Section B consist of
(a) Q.No.291to037- Very Short Answer type questions carrying 2 marks
each.
(b) Q.No. 38 to 42 - Short Answer type questions carrying 3 marks
each.
(c) Q.No. 43 and 44 - Long Answer type questions carrying 5 marks
each.
fRar: () 39 99799 § $d 44 9T 2|
(i) af weT o F1
(iil) 9d® W & TEA ofp ¥ ™ ¥
(iv) @2 — & ¥ quf@ ¥ -
(a) UT-EE 1 ¥ 17 T& Tglashedd YbR & 99T ¢ ok Jds 1 3%
B %1 T 9 UUE 9T H RU T ar fgeedl ¥ 999 SugE (e
B I B @ B
(b) UsT-dEr 18 ¥ 28 T& IR YA & Ued & | yed—den 18 ¥ 27
qHh Th U9 2 b & & (YA 1 3ih & 2 IT-AWI & 9q1Y) oix
TG 28, 5 3ikl w1 T (IAB 1 3k b 5 SU-HFN & G1Y) | TIh
usT 18 @ 28 & fuu feuw g frdetf & oo wedi & wOx fa|
(v) @€ — @ ¥ qifE ¥

(a) U@ 29 ¥ 37 T @Y SAUT YH b A—aAA 3l b YT 2 |
(b) U@ 38 § 42 I @Y AU YA &b AF—dH b b U9 2 |
(c) vsT-—dedm 43 Ud 44 <6 ST YHR & UrE—urd 3fbf & YT 7|
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SECTION — A /9% — &

1 Factors of 3x2 —x —4 are : 1

3x2-x—-47%® ‘;[‘TH'@!'S' g

(B) (3x—4) (x+1)
(©) (3x+4) (x—l)

(D) (3x + 4) (x + 1)

2 If 2p+1, 13 and 5p —3 are in A.P., then the value of p is: 1
g 2p+1, 13 QAT 5p—3 Th GHIAX Il 910 &, df p & A &
A) —4 B) 3

©) 4 (D) -5

3 A person bought an almirah for ¥ 3250 and spent I 750 on its repair. If he sold it for 1
< 5,000, his gain percent is:

Ueh Al 5 T ATqT T 3250 & @R ok T 750 SHb! 909 X @9 fopul
iy TG 3G @Y & T 5,000 F 41, O @ gfqe ©:

(A) 16% (B) 20%

(C) 25% (D) 30%

69/MAY/4—211-A | 4 R - [ Contd...



4 A point both of whose x and y coordinates are negative lies in:
(A) 15t quadrant (B) 2nd quadrant

(C) 3t quadrant (D) 4th quadrant

s fag frae M fdais x dar y woners €, 98 Rud &
(A) wgq agafy o (B) fedm aguta
(C) g aqater # (D) A agater #

5 If the y coordinate of a point is zero, then the point lies:
(A) in 15t quadrant (B) in 2" quadrant
(C) on x-axis (D) on y-axis
gfy et fog o1 y Fdoris o @, @ a8 fog R &
(A) wgq Tgafy o (B) fedim agafer A

(C) x-3&T QX (D) y-3&d X

6 If an arc of a circle subtends an angle of x° at the centre of the circle and )° at

any point on the remaining part of the circle, then the relation between x and y is:

gis TRl IO Bl T 9 I % b5 UT x° BT BV AN & T I &b T AN % [BHT
g X )° & BT AW B, A x qUT y B GIG &

(A) x=2y B) y=2x

) x=y D) x+y=0
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7 TP and TQ are two tangents, from an external point 7, to a circle with centre O. 1
If ZPOQ=110°, then £ZPTQ is:
% g, s dw g 0 %, & Iem fog 79 7P dun 70 97 @l & wsl Y@
¥ gy ZPOQ=110° @ ZPTQ @ W9 &:
(A) 60° (B) 70°

(C) 80° (D) 90°

8 If PQ is a chord of a circle with centre O and the tangent PR at P makes an angle 1
of 50° with PQ, then LPOQ is:

gfs us g, fasr &% 85 0 &, & w& sier PO & 9o fog P W @il 8w
@1 PR, SAT PO & |1 500 %1 HI0 S &, @ LPOQ &l AT &:

(A) 100° (B) 90°
(C) 80° (D) 75°
9 The curved surface area (in cm?) of a right circular cone of slant height 10 cm 1

and base radius 7 cm 1is:

TH @9 g i, foraant fodes Sarg 10 9 qan smar B 7 a0 %, & o g
g% (T o H) &
(A) 120 (B) 140

(C) 220 (D) 240

69/MAY/4—211-A | 6 R - [ Contd...



10  Total surface area (in cm?) of a solid hemisphere of radius 10 cm, 1

when w=3.14, is:

U 3@ e, et Bream 10 @ %, &1 g g e (S | H),
wgfer ©=3.14, &:

(A) 840 (B) 842
(C) 940 (D) 942
11  The curved surface area of a cylinder of height 14 cm is 88 cm?. The diameter 1

(in cm) of the cylinder is:

T Jo, el Sars 14 1 7, 61 9h IO &a%d 88 O HH & | 39 @ Bl A
@@ #)

(A) 05 B) 1
(C) 15 (D) 2
1—tan? 45°
12  The value of — 5 s 1
1+ tan” 45°
1—tan? 45°
————— & AN &
1+ tan” 45°
A) 1 B l
(A) B)
J3
(© 0 ©)
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sin2 22°+ sin2 68°
0052 22°+ cos2 68°

13  The value of [ +sinZ 63°+ cos 63° sin 27°] is: 1

[ sin? 22° + sin? 68°

5 3 +sinZ 63°+ cos 63° sin 27° B AE T
cos” 22°+cos” 68°

(A) 3 B) 2
©) 1 D) 0
1
14 If tan (4-B)= A and tan (4+ B)=+/3, then the values of 4 and B 1

respectively are:

gfe tan (A—B)=% dogr tan (A+B)=\/§, qr A4 qa B & HHM: WA &

(A) 45° 15° (B) 30° 15°
(C) 45° 30° (D) 15° 60°
15 The mean of first five multiples of 7 is: 1

7% YU® Ui OIS bl AT &
(A) 20 (B) 21

©) 22 (D) 25
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16 The median of 10, 12, 14, 16, 18, 20 is: 1

10, 12, 14, 16, 18, 20 T AMHD &:

(A) 12 (B) 14
© 15 (D) 16
17 A die is thrown once. The probability of getting a number between 2 and 6 is: 1

Teh UTHT Uh S hebl ST &1 2 QAT 6 b S bl AT U bR bl Wbl &

o L o 1
(A) ®)
© 1 D) 0
18 Fill in the blanks : 2

(i)  If the 15 term and common difference of an A.P. are 6 and 5 respectively, then

the 11t term of the A.P. is

(i1)) The sum of first ten terms of the A.P. 7, 14, 21, 28, ... is
o e @ qid @i -

(i) afy ue gHiEaX I & YU Ug SR Wd SR HHT 6 WH 5 ¥, f 9H §Hid

g &1 1197 U Tl

(i) @AY SE 7, 14, 21, 28, ... % YU TG UG BT AT T
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19  Match Column-I statement with the correct option of Column-II :

Column-I Column-II
(i) The coefficient of y in the linear (A 0

equation 52x—4)+3x+4y—-7=01is :
(i1)) When y =3 is expressed in the form B) -3

ax + by + ¢ =0, then the value of a is:

€ 4

WA % ®IT B W91l & FeI e & @Y frae iy

wWH-1 w9-11
() aw T 5Qx—4)+3x+4y-7=0 (A) 0

o y @1 I §
() I y=3 B ax+by+c=0% &0 A o (B) -3
15702 | L P |
<€ 4

20 Match Column-I statement with the correct option of Column-II :
Column-I Column-II
(1)  If the roots of the quadratic equation (A) 3 and 4

(06—3))62 +4(0e—3)x+4=0 are equal and (B) 4and>5

real, then the value/s of o is: <) 2

1
(i) If x= 5 is a root of the equation (D) 6

x? +kx—%= 0, then the value of £ is:
WH—1 & HIT B WH-11 & Tl [qehed & Qi fraw g -
wWa-1 wu-11
(i) afs fgEm @B (0-3)x? +4(a—3)x+4=0 (A) 3Ud4
& I GHH UG andiae &, af o B 9 8 (B) 4Td S

i) af v=, wheor koS =0 © 2
® TH Id ¢, al k B AW & (D) 6
69/MAY/4—211-A | 10 1 000

[ Contd...



21  Fill in the blanks : 2
(i) 20t term from the end of the A.P. 3, 8, 13, ... 253 is
(i) If the first term of an A.P. is 5, last term is 45 and the sum of all terms is

400, then the number of terms of the A.P. is

e et @1 gfd ity

() @HET S 3, 8, 13, ... 253 @ 3d ¥ 2047 Ug T

(i) afg T® F9aY SEl &1 Y99 9 5 8, oifow ug 45 & oiX Sl & 9l ual &
AT 400 &, O GAAT 96T % UQT bl HEn gl

22 Write "True' for correct statement and 'False' for incorrect statement : 2
(1) The graph of the linear equation 2x — 3y = 6 intersects the y-axis at the
point (0, 2).
(ii)) The graph of x =2 is a line parallel to x-axis.
TEl HYF & [T G’ R TTad wYq & fow ‘o’ fafay
(i) XRg® FHBT 2x — 3y = 6 B @ y—3& @& 5 (0, 2) I Y=g HIAT 2 |
(i) x=2 @ G, x—AT b THAX Tk (@I 2|

23 Fill in the blanks : 2

(1)  If the distance between the points 4 (0, 0) and B (x, 3) is 5 units, then the value

of x is
(i) If the mid point of the line segment joining the points (x, 4) and (5, 12) is

(4, 8), then the value of x is
Pt Tt B R B -
(i) afe fagat 4 (0, 0) T B(x,3) & 9@ & T 5 3BE &, A x B AW

2l

(i) afE fagalt (x, 4) qEm (5, 12) * S o @1 @S & 9 65 (4, 8) ¥,

qr x & " T
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24  Write '"True' for correct statement and 'False' for incorrect statement : 2

(i) Ifachord of a circle is equal to the radius of the circle, then the angle subtended

by the chord at a point on minor arc is 30°.

(i) If the tangents PA and PB from an external point P to a circle with centre O

are inclined to each other at angle of 80°, then £P0OA is 60°.

el Y9 &% U g X Tod »U9 & fou ‘e fafew -
(i) afs fpell g7 & TH Sien T Boar & GAE §, A 39 WA g0 |g 99 W
fafta @i 300 %

(i) s TH ga e &= 05 0 %, & 9@ {45 P 9 &1 Wef W} P4 9 PB

YL@ 80° hT B ST &, df LPOA &1 |19 60° ¥

25  Fill in the blanks : 2

(i) PAB is a secant and PT is a tangent to a circle. If PT=xcm, PA =4 cm and

AB =5 cm, then the value of x is

(il) AB is a diameter of a circle and XPY is a tangent to the circle at point P.

If ZPBA=30°, then ZBPY is
(i) U IJ B Wl @ PT T Be% @1 PAB & 1A PT=x WA, PA =4 1 q

AB=5 ¥H, @ x & A4 T

(i) TP IO & U AW ABT T I & g P W IJ &I o Wl @ XPY ®|

gfs ZPBA=30°,dl ZBPY @ HIU gl
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26

27

Fill in the blanks :
(i) Ina AABC right angled at C, if AC=4 cm and AB=8 cm,
then £4 =

(i) In a AABC right angled at B, if BC=5cm, /BAC =30°,
then AB =

i Tt @ gfd it
(i) Tk AABC, @Y £C=90°, afg AC =4 ¥ qu1 4B =8 T,

ALA=

(i) Wk AABC, F@d £B=90°, gfs BC =59, £LBAC =30°,
ar AB =

Write "True' for correct statement and 'False' for incorrect statement :

(i) Two dice are thrown together. Probability of getting same number on
N |
both dice is —.
9
(i1)) Two coins are tossed simultaneously. Probability of getting at least one

il is —.
tail 1s >

el U9 & 0 g X Tad »U9 & fou ‘e farey ¢
() = uTEl B TH G Hep! AT & | Al U UT TUeh & AT U B bl

s 5 %
(i) = foaepl B TH AU IV AT E | BH § BH Uh U U B Dl

mﬁwm%—%
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28 Cost of a washing machine is ¥ 19,400, but due to Diwali Festival Sale it is

available for I 4,200 cash down payment followed by three equal monthly instalments.

Shopkeeper charges interest at the rate of 16% per annum under this instalment plan.

On the basis of the above information, answer the following questions:

Let the amount of each equal instalment be T x, then

(i) Total interest paid under the plan is:
(A) T (3x—15,200) (B) T (2x-15.,200)
(C) T (x—15,200) (D) I (15,200 —x)

(i) Amount owes by the buyer to the seller for 15t month is:
(A) 4,200 (B) 19,400
(C) R 15,200 (D) R 11,000

(iii) Amount owes by the buyer to the seller for 3" month is:
(A) T 15,200 (B) T (15,200 —x)
(C) T (15,200 - 3x) (D) I (15,200 —2x)

(iv) Total amount paid by the buyer under the instalment plan is:
(A) 19,400 (B) ¥ 15,200
(C) (4,200 + 3x) (D) T (19,400 —x)

(v)  Amount of each instalment is:
(A) 4,200 (B) 4,600

(C) T 4,800 (D) T 5,200

69/MAY/4—211-A | 14 1 000
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T T A @1 qed 19,400 §, 9] ol ©ER Ad % BT I8 A T 4,200

I A AT A G J1e fohel § SU@ed 5 | 39 foht ASTT & ST<Iid §ha
16% efities <X | =arel well 2 |

SUged AT % g WX FrAfaiad wedl % SaY Aty
A WY YA G99 fohed @ W T x &, @
(i) 39 JdeMT & STt A fRu TT ST @ e T §
(A) T (3x—15.200) (B) T (2x—15,200)
(€) T (x—15,200) (D) T (15,200 —x)
(i) w99 7N ¥ Ued E0 fashar & <7 99 AT T
(A) T 4200 (B) ¥ 19.400
(€) % 15200 (D) T 11,000
(iii) WEX WEM ® Wed & fashar B < €9 AT T
(A) T 15,200 (B) ¥ (15,200 —x)
(C) ¥ (15,200 - 3x) (D) ¥ (15,200 - 2x)
(iv) fope diemT & oraela e ERT A & TS ot URT F -
(A) T 19,400 (B) T 15.200
(C) T (4.200 + 3x) (D) T (19,400 —x)
(v) Y fped @l TR §
(A) T 4200 (B) T 4,600

(C) ¥ 4,800 (D) ¥ 5,200

69/MAY/4—211-A | 15 R - [ Contd...



SECTION - B /@% — @

29 Find the LCM of P(x)=(x-2)(x* ~3x+2] and O(x)=x"-4. 2

P(x)=(x=2)(x? =3x+2) N Q(x)=x> -4 B F. T BT

OR / a1yt

1
If x——=2, find the value of x2+L2.
X X

1 1
gy x——=2 %, @ x2+—2 ®T AW 3 BT
X X

30 A man started a business with an initial investment of ¥ 5,00,000. In the 2

first year, he incurred a loss of 4%, however, during second year, he earned
a profit of 5% which in the third year was raised to 10%. Calculate his net

profit for the entire period of 3 years.

g @R | % 5,00,000 @1 Ui FEST Y Th ANR JE e gem av 7 sEd
4% T I35, s T a9 H IEA 5% TN HA™T &l fob qal a9 7 gedt 10%
BTN AF 9 @ U Safy & fY I8 $d @H T diteid |
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31 Find the centroid of a triangle whose vertices are 4 (5, -2), B (9, 6) and 2
C4,)5).

uF U e & Fe i st fad sl 4 (5, -2), B(9, 6) aur C (4, 5) ¥l

OR / 31¥an

Find the coordinates of a point which divides the line segment joining the

points 4 (—1, 3) and B (2, —-3) in the ratio 1 : 4 internally.

34 fag &% frdetias s Sifsre <t fagatt 4 (—1, 3) a1 B (2, —3) &! fram am @
e B 1:4 % o U F fawiiad wear 71

32 ABC is an isosceles triangle with AB=AC and XAY is a tangent to the 2

circumcircle of A ABC. Show that XY is parallel to the base BC of the triangle.

ABC ts wuigarg Bryet & {as 4B =AC a1 XAY Bryst ABC & uiga & fag
A T @t @ ¥ 39y 6 XY Brye & emear BC % 9wy ¥

33 ABCD is a cyclic quadrilateral in which Z4=(x+2y)°, ZB=(5y—x)°, ZC=2x° 2
and ZD=(x+y)°. Find the value of x and y.
ABCD 1% ggig agia &, s Z4=(x+2y)°, ZB=(5y—x)°, £C =2x° @
ZD=(x+)°. x Q41 y % WH Td BT
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34 Find the perimeter and area of the sector of a circle of radius 14 cm and 2

central angle 30°.

T g9, fea! Bear 14 30 ¥, % uh 08 Rreaave & afe ok S s #itg
TSt w= BT 300 ¥

OR / 3t¥an

The sides of a triangle are 3:5:7. If the perimeter of the triangle is 60 cm, then

find its area.

T Bys @ g 3:5:7 % U W gl Al Brygst @ ufee 60 w4 g, A sEew
CECEIEICEEAE I

35 A solid metallic sphere of radius 21 cm is melted and recast into a number 2

of smaller solid cones, each radius 7 cm and height 3 cm. Find the number of

cones so formed.

g1 % U 39 T, foraent Bear 21 & &, & oy 38 U9 3™ 9ig s S
g o | e & Bear 7 9 iR S 3 9l 81 39 Y MR sigent @ den
A BT |

OR / 31¥an

Curved surface area of a solid cylinder is two-third of its total surface area.

If its total surface area is 231 cm?2, find its radius.

T 3 ST B Gh TSI G SHb P YT AAGA Bl —TeTs & | A I B
P USIT ehd 231 ¥ B, O SHe! reun S| wifeg |
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36 Find the median of the following data:

e aifebel 1 ATfas Fd BTy

35

45

55

7 [8]10]16

24

15

37 A bag contains 5 red, 4 black and 3 green balls. A ball is drawn at random 2

from the bag. Find the probability of getting :
(1) red or green ball

(ii)) a ball which is not red.

Th I F 5 A, 4 Bl S 3 U AT LI H A TS s A5 Ml STl § |

frrfefad &l g & B TiRIebdT S Sy -

(i) TH A« reEr & A

(i) us W& AT S A O

38 Solve the following system of linear equations graphically :

frrfefas Waes giiebor v &l smodid oty @ g Hifvg ¢

x+y=5x—-y=1

69/MAY/4—211-A |
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39 The length of a rectangular garden is 7 m more than its breadth. If area of 3

the garden is 144 m2, find the length and breadth of the garden.
Th FREAHR S S ddE SHb! Ao § 7 HeX il &) Al i B aswd
144 of HeX 7, df SHD! oIS AT SR S BT

OR / 3ty

The altitude of a right triangle is 2 cm more than its base. If the hypotenuse

of the triangle is 10 cm, find the other two sides.

Th GEHI S B NN @S Ik SMER F 2 Tl Afaeh &1 qfe 37 st &1 v
10 &1 &, O IED! ST & YOG T DbITI] |

40 Prove that the tangents drawn from an external point to a circle are of equal 3

length.

g @ifwT fop fpell sar fog @ g WX Eidl 18 @l Yt &1 wwamgar 99 B ¥

41 Two perpendicular paths of width 10 m each run in the middle of a 3

rectangular park of dimensions 200 m x 150 m, one parallel to the length and
other parallel to the breadth. Find the cost of constructing these paths at the

rate of ¥ 50 per mZ.

200 Hex x 150 Hex fammen o Ue Taars Ui & 9 ® &F il 99 10 Hiex
e & g1 3¢ T, R ua @eE & guiay qun qEa A 6 g|al
T 50 gfq o HieT @ & 9 39 qAf @ MG w @ =@ o s

OR / 31¥an
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A rectangular sheet of metal with dimensions 66 cm x 12 c¢m is rolled to form

a cylinder of height 12 cm. Find the volume of the cylinder.

Tq B U FAER e, et fmm 66 A x 12 9 ¥, %1 gATeT Wied g4 Uh
12 1 &% &1 S99 ST Sl 8 | S99 Bl STEa Fd B |

42 If the mean of the following data is 8, find the value of p : 3

gfy ffaRaa ericeel &1 w1eg 8 &, df p &1 AIF 3d BT

Fle|s8|15]p|s]|4

43 Construct a triangle 4ABC in which AB =5 cm, BC = 4.2 cm and median 5
CD=3.8 cm.

s s ABC @1 W@ @ifig, fad AB=15 ¥, BC =4.2 991 i wifegent
CD=3.8 ¥4 =

OR / a1yt

Draw a circle of radius 3.2 cm. From a point P outside the circle, draw two

tangents PQ and PR to the circle.

3.2 9 oo &1 us g9 difaq) g9 & 9l Rud fag P 9 g9 @ & wel e
PO gdur PR ®ifau|
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44 The shadow of a tower, when the angle of elevation of the Sun is 30° is 5
found to be 10 meters longer than when it was 45°. Find the height of the

tower. (Use /3 =1.732)

T B I BT 45° F 300 B X UH AMR @ BET 10 WX 98 9 |
AR B S8 od el (13 =1.732 i)

OR / a1yt

A aeroplane when 3000 m high passes vertically above another aeroplane at an
instant when the angles of elevation of the two aeroplanes from the same point

on the ground are 60° and 45° respectively. Find the vertical distance between

the two planes. (Use /3=1.732)

T arga™ W9 3000 HIZT Bl ST I Bl & ol 98 Th G AgAM &b S & ol
T qAT IH I I 47 & U g | BEIn 600 qUT 450 & BV I & | I A

& 99 B dgad g T BTl (V3 =1.732 @ifw)
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This Question Paper consists of 44 questions and 22 printed pages + Graph Sheet.
39 YT 9 44 9o qor 22 i g + UH o R

Roll No. Code No. 69/MAY/4
set /¥ - | B
MATHEMATICS

(o)
@11)

Day and Date of Examination

(adren @1 oo 7 i)

Signature of Invigilators 1.

(Friverani & Twnen)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to
you.

All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 69/MAY/4, Set—| B | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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A ST

1

2

el 9sT-UF % UEd U8 UX STUAT ShAIE oAy for |

FUAT YT Bl AT W 6 YT-UT b HA YS! qUT YA Bl Ia! & WA & fAaAr yem
U3 % G99 HUI BU &1 A 91 DI G W B o B YT s €9 H |

TS FeAt & Ul AR fawedt (A), (B), (C) Tam (D) ¥ € iE Uk SAX AT & e &

T SR-gRa ¥ o gE wux e |

JEIFTSE Ul & Tg—|q1e q Al & A (eiia oy & Wi & 37 € | awgire vt

% o o © 9wy 7@ fear smom)

ST ¥ TEaH-Tus a9 styan fidse Wl & Sfdiea wel Wi oTwaie foaay ¥

qeedt Bl AT SETEAT WA

AU § ol W Y & dde e gfaen o Rufa ¥ oS ergae & A BN

U FT—YRAHT T -9 &1 Bie 7. 69/ MAY/4, Fe—

B

ford |

(@) WU had /IS ® 31 6T oft, afy omw o) @ T & v el we won ®

I T T § ¢

Ui, ARTYY, STEHAT, TUTAl, B, T&hd i o=t

HudT IR-YRal H oy U gt ¥ fae 6 oy few W F I fow W@

(@) afe emg =Y e iUl & stfafie fpal oy s & SeR foed &, df el &l wHem
¥ BN arr Jfedt | Tt s e e Saehl g |

General Instruction / ™= 391 :

1. Answers of all questions are to be given in the Answer-Book given to you.

Ul 99T % AL SATYR! < T ITX GRaawT 7 & foed |

2. 15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y91 I Ue o 17T 15 feie o1 a9 feam man | oot a1 faaeor aue & 02.15 51 fomar
ST 1 02.15 1 & 02.30 St T BT bad 99797 & g 3i 36 1Aty & e J Sa—gRaa!

X B3 3 el feE )
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MATHEMATICS

T
Q211)
Time : 2% Hours] [Maximum Marks : 85
w21 wwe] [quiie : 85
Note : (i) This question paper consists of 44 questions in all.
(i1)) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section A consist of
(a) Q. No. 1 to 17 - Multiple Choice type questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of
the four options given in each of these questions.
(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
2 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28
carries 5 marks (with 5§ sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions
18 to 28.
(v) Section B consist of
(a) Q.No.291to037- Very Short Answer type questions carrying 2 marks
each.
(b) Q.No. 38 to 42 - Short Answer type questions carrying 3 marks
each.
(c) Q.No. 43 and 44 - Long Answer type questions carrying 5 marks
each.
fRar: () 39 99799 § $d 44 9T 2|
(i) af weT o F1
(iil) 9d® W & TEA ofp ¥ ™ ¥
(iv) @2 — & ¥ quf@ ¥ -
(a) UT-EE 1 ¥ 17 T& Tglashedd YbR & 99T ¢ ok Jds 1 3%
B %1 T 9 UUE 9T H RU T ar fgeedl ¥ 999 SugE (e
B I B @ B
(b) UsT-dEr 18 ¥ 28 T& IR YA & Ued & | yed—den 18 ¥ 27
qHh Th U9 2 b & & (YA 1 3ih & 2 IT-AWI & 9q1Y) oix
TG 28, 5 3ikl w1 T (IAB 1 3k b 5 SU-HFN & G1Y) | TIh
usT 18 @ 28 & fuu feuw g frdetf & oo wedi & wOx fa|
(v) @€ — @ ¥ qifE ¥

(a) U@ 29 ¥ 37 T @Y SAUT YH b A—aAA 3l b YT 2 |
(b) U@ 38 § 42 I @Y AU YA &b AF—dH b b U9 2 |
(c) vsT-—dedm 43 Ud 44 <6 ST YHR & UrE—urd 3fbf & YT 7|
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SECTION - A /9% — &

1 The median of 10, 12, 14, 16, 18, 20 is: 1
10, 12, 14, 16, 18, 20 @1 Hiftad &:
A) 12 (B) 14
(C) 15 (D) 16

2 A die is thrown once. The probability of getting a number greater than 4 is: 1
TE U U A Hal Al &1 4 9 ST U AT UK B bl UIAehdT o

A) ~ B) =
(A) B) 3
1
©) 3 (D) 1
sin” 22° + sin” 68° 2
3 The value of > 3 +sin“ 63°+cos 63° sin 27° | is: 1
cos“ 22°+cos” 68°

sin2 22°+ sin2 68°
cos2 22°+ cos2 68°

+sin2 63°+cos 63° sin 27°J B qH T

(A) 3 B) 2
© 1 D) 0

69/MAY/4—211-B | 4 R - [ Contd...



4 The mean of first five multiples of 7 is: 1

7 % WU uiE U b1 A €

(A) 20 (B) 21
(C) 22 (D) 25
V3 : _
5 If cos (4-B) =5 and sin (4 + B) = 1, then the values of 4 and B 1
respectively are:
V3 : .
gfg cos (A_B):T Jq sin(4+B)=1%, @ A4 991 B % HAM: A9 &:
(A) 459, 15° (B) 309, 15°
(C) 60°, 30° (D) 45°, 60°
6 The curved surface area of a cylinder of height 14 cm is 88 cm?. The diameter 1

(in cm) of the cylinder is:

T S, TEd! g 14 G911 §, B a9k T AAhd 88 I THI B | IH I dl A
@ ) &
(A) 0.5 (B) 1

C© 15 (D) 2
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7 The curved surface area (in cm?) of a right circular cone of slant height 10 cm 1

and base radius 7 cm is:
T W9 gad o, fram fde SaE 10 9 qar o B 7 99 8, @ 9% g
gamd (i I H) &

(A) 120 (B) 140
(©) 220 (D) 240
1—tan® 45°
8 The value of — 5 s 1
1+tan” 45°
1—tan? 45°
———— &AM &
1+ tan” 45°
A) 1 B 1
(A) B)
NE)
(© 0 ©)
9 Total surface area (in cm?) of a solid hemisphere of radius 10 cm, 1

when T=3.14, is:

TH 3 erefan, fradr Bear 10 S ¥, &1 ga goE dema (o S H),
wefs ©=3.14, &:

(A) 840 (B) 842

(C) 940 (D) 942
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10 If an arc of a circle subtends an angle of x°© at the centre of the circle and )° at 1

any point on the remaining part of the circle, then the relation between x and y is:

gfs el I T TH a9 A & P UX x° BT BV SN & qAT I % AW 9T &% fohdl
g X )° & BT AN B, A x qAT y B GEG &

(A) x=2y B) y=2x
©) x=y D) x+y=0
11  Factors of 3x2—x—4 are : 1

3x2-x—47% ‘\I‘TH'@'S' g

(A) (Bx-4) (x-1) B) (Bx-4) (x+1)
(©) (3x+4) (x—l) (D) (3x+4) (x+1)
12 TP and TQ are two tangents, from an external point 7, to a circle with centre O. 1

If ZPOQ=110°, then £PTQ is:

% g, fae &= fag 0 %, & Sea fog 78 TP Qo 7O 99 &1 & wWel (@

¥l afy LPOO=110°, @ £PTQ a1 wid &
(A) 600 (B) 70°

(C) 80° (D) 90°
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13 If2p+1, 13 and 5p—3 are in A.P., then the value of p is: 1

g 2p+1, 13 QAT 5p—3 TH GHIAGR SE a9 &, @l p &1 A &

(A) —4 (B) 3
€ 4 D) -5

14 If the x coordinate of a point is zero, then the point lies: 1
(A) in first quadrant (B) in second quadrant
(C) on x-axis (D) on y-axis

gfy et fog &1 x fdonies o= %, @ a8 fog R &
(A) wgq agafy o (B) fadr agafer #

(C) x-3& T (D) y-3&d X

15 A person bought an almirah for ¥ 3250 and spent I 750 on its repair. If he sold it for 1

< 5,000, his gain percent is:

U Aferd o Ueh STAAT T 3250 H @ET 8iX T 750 S¥&! HOHd WX @9 fhu|
If 3@ ST T & T 5,000 F I, o @ wiqe @

(A) 16% (B) 20%

(C) 25% (D) 30%
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16 A point whose x coordinates is positive and y coordinate is negative lies in: 1
(A) first quadrant (B) second quadrant

(C) third quadrant (D) fourth quadrant
s fag forae x st gvmere aar y e #omes &, a8 Rua &
(A) g Fgafer & B) fad agafa §
(C) e agater (D) =ge =gafer &

17 If PQ is a chord of a circle with centre O and the tangent PR at P makes an angle 1
of 50° with PQ, then ZLPOQ is:

gf ws g, fasr &% 65 0 §, & wa sitar PO & 9o fog P W il 8 @t
@1 PR, AT PO & T 50° %7 HI0T §9T &, df LPOQ @&l AT &:

(A) 100° (B) 90°
(€) 80° (D) 75°
18 Fill in the blanks : 2

(1) Ina AABC right angled at C, if AC=4 cm and AB =8 cm,
then £4 =

(i) In a AABC right angled at B, if BC=5cm, /BAC =30°,
then 4B =

P Tt 1 RS BT

(i) TH AABC, EH £C=90°, afs AC =49 qo1 4B = § T,
LA =

(i) Th AABC, f&® £B=90° afe BC =59, LBAC =30°,
ar AB =
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19  Write "True' for correct statement and 'False' for incorrect statement : 2

(i) Two dice are thrown together. Probability of getting an even number

on first die is %

(i1)) Two coins are tossed simultaneously. Probability of getting one tail is 5

el HY & [0 T SR Tad HUF &b WU eme farey

(i) aﬁwr@rqmwaﬁ%sa@r%mmﬁwwﬁwwmaﬁqﬁw%%

(ii) aﬁﬁwwamaﬁ%wwwaﬂ%aﬁuﬁw%%

20 Fill in the blanks : 2

(1)  If the distance between the points 4 (0, 0) and B (x, 3) is 5 units, then the value

of x is
(i) If the mid point of the line segment joining the points (x, 4) and (5, 12) is

(4, 8), then the value of x is

(i) afs fagant 4 (0, 0) T&M B (x,3) & 1 & g 5 HE &, A x B 99
T

(i) afy fagart (x, 4) Tr (5, 12) ® S @ @ @S & 7 g 4, 8) T,

v x & " T
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21  Write '"True' for correct statement and 'False' for incorrect statement : 2

(i) Ifachord of a circle is equal to the radius of the circle, then the angle subtended

by the chord at a point on minor arc is 30°.

(i) If the tangents P4 and PB from an external point P to a circle with centre O
are inclined to each other at angle of 80°, then £POA is 60°.

TEl HUF & [T G’ R TTad wYq & fau ‘s’ fafau

(i) afs forell gT @ Te Siar Iga! B5oa1 & 999 2, @ 39 Sien &1 &g 9" 0
AR @i 300 ¥

(i) aft uw ga e &= 45 0 %, & @1 fog P 9 &1 wef @™ P4 9 PB
TR 80° &I BV IR &, A LPOA 1 =19 60° ¥

22 Match Column-I statement with the correct option of Column-II : 2
Column-I Column-II
(1) If the roots of the quadratic equation (A) 3and 4

(0(—3)x2 +4(0—3)x+4=0 are equal and (B) 4and>5

real, then the value/s of o is: ) 2
.. 1 :
(i) If x= 5 isa root of the equation (D) 6

5
x? +kx_Z: 0, then the value of & is:

WH—1 % HIT BT WY1 & FeI [qehed & Qi fe g

w1 w11
() o e FHedRT (0—3)x? +4(0—-3)x+4=0 (A) 3Td4

% I GHH Ud Irdfas ¥, af o B WE 2R (B) 4THS
(ii) aﬁ:’x=%,wﬂwx2+loc—%=0 ©) 2

@l Th A &, A k B A & (D) 6
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23  Fill in the blanks : 2

(i) PAB is a secant and PT is a tangent to a circle. If PT=xcm, PA =4 cm and

AB =15 cm, then the value of x is

(il)) AB is a diameter of a circle and XPY is a tangent to the circle at point P.

If ZPBA=30°, then /BPY is
faa et @ gfd @feg

() U gad &I Wi @1 PT q1 B3 @1 PAB 5139 PT=x 99, PA =4 & a1

AB=5 §H, d@f x & A4 T

(i) TH I B Tk AW AB T 91 9 & 45 P WX I & UH Wl @1 XPY B

afe £ZPBA=30°, di ZBPY & |9 gl

24  Write '"True' for correct statement and 'False' for incorrect statement : 2

(i) The graph of the linear equation 2x — 3y = 6 intersects the y-axis at the
point (0, 2).

(ii)) The graph of x =2 is a line parallel to x-axis.

e BYA & U ‘O’ &R TTd 99 & fag ‘e fafeg ¢
(i) ad THHT 2x -3y =6 F W@ Y- B &g (0, 2) WX Ufrdg HIT 2|

(i) x=2 T M@, x—37e % GHAY T @l &l
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25 Fill in the blanks : 2
(i) 20th term from the end of the A.P. 3, 8, 13, ... 253 is

(i) If the first term of an A.P. is 5, last term is 45 and the sum of all terms is

400, then the number of terms of the A.P. is
o @l &l ELP& Eﬁlﬁﬂq :
() @HET S 3, 8, 13, ... 253 @ 3fd ¥ 2047 Ug g

(i) df TH AR JST B Y99 9T 5 %, Sifcw g 45 T SR Sl & Al ual @

AT 400 &, O GHIAT 96T & Tl @l dEn gl
26 Match Column-I statement with the correct option of Column-II : 2
Column-I Column-II
(i) The coefficient of y in the linear (A) 0

equation 52x—4)+3x+4y—-7=01s :
(i1)) When y =3 is expressed in the form (B) -3
ax + by + ¢ =0, then the value of a is:
© 4
WH-1 & HIT & @911 & el fadbed & g fHaw s
-1 wH-11
(i) aw gfimmr 5Qx—4)+3x+4y—7=0 (A) 0
o y @I U &
() TR y=3 @ ax+by+c=0% &4 § Ha (B) -3
fepar ST, A @ T HE T

© 4
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27 Fill in the blanks :
(i) 10th term of the A.P. 7, 11, 15, ... is
(i) Sum of first 20 terms of the A.P. 6, 10, 14, 18, ... is

faa @t & gfd @i
() a9aT & 7, 11, 15, ... &1 10af 92 s
(i) 9T S& 6, 10, 14, 18, ... & T&H 20 Y& &1 I g

28  Cost of a washing machine is I 19,400, but due to Diwali Festival Sale it is

available for ¥ 4,200 cash down payment followed by three equal monthly instalments.

Shopkeeper charges interest at the rate of 16% per annum under this instalment plan.

On the basis of the above information, answer the following questions:

Let the amount of each equal instalment be T x, then

(i) Total interest paid under the plan is:
(A) % (3x—15,200) (B) I (2x-15.,200)
(C) T (x—15,200) (D) I (15,200 —x)

(il) Amount owes by the buyer to the seller for 15t month is:
(A) 4,200 (B) < 19,400
(C) T 15,200 (D) R 11,000

(iii) Amount owes by the buyer to the seller for 3™ month is:
(A) T 15,200 (B) T (15,200 —x)
(C) (15,200 - 3x) (D) I (15,200 —2x)

(iv) Total amount paid by the buyer under the instalment plan is:
(A) T 19,400 (B) 15,200
(C) T (4,200 + 3x) (D) % (19,400 —x)

(v)  Amount of each instalment is:

(A) 4,200 (B) T 4,600
(C) T 4,800 (D) ¥ 5,200
69/MAY/4—211-B | 14 I OO0 O O A A
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T T [ 1 e 19,400 §, 9] ool ©ER a9 & BT g8 A T 4,200
I A AT A G A1 fohtal § Suded § | 39 fohe Aot & ST=aid §hTa
16% afties X ¥ =1 Wl 5

ST O & SAUR 9 FEfaRad gl % IaT g :

AM WY e g9 fohed &l U1 T x 8, <t

(i) 39 deT & Srtd YA foRT T e @ e i §
(A) T (3x—15,200) (B) T (2x—15,200)
(C) T (x—15200) (D) T (15,200 —x)
(i) 9™ 9 ¥ Ued &R fashan & 3 €9 T ¢
(A) T 4,200 (B) ¥ 19.400
(C) T 15200 (D) ¥ 11,000
(iii) WX 7 ® UEd &R fashar & 3 €9 T T ¢
(A) ¥ 15,200 (B) ¥ (15,200 -x)
(C) ¥ (15,200 3x) (D) T (15,200 —2x)
(iv) forea die & oraid UTes &1 A &1 5 $A AT &
(A) ¥ 19,400 (B) ¥ 15,200
(C) ¥ (4.200 + 3x) (D) T (19.400 —x)
(V) U feed @l T E
(A) T 4200 (B) T 4.600

(C) T 4,800 (D) T 5,200
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SECTION - B /@% — @

29 A bag contains 5 red, 8 green and 7 white balls. A ball is drawn at random 2

from the bag. Find the probability of getting:
(i) white or green ball

(i1)) neither red nor white ball.

Th I 7 5 @, 8 T AR 7 G AT £ I H ¥ TS s A5 Ml ol § |
frrfafad & wa wE B wieedr s ik

(i) Us g% agen g0 1T

(i) = df @« i =1 & "k Az

30 Find the perimeter and area of the sector of a circle of radius 14 cm and 2

central angle 30°.

% g9, feas! Bear 14 a0 ¥, & uh 08 Rreaavs & afe ok dewd S #itg
fSraet s ®ior 300 ¥

OR / 31¥an

The sides of a triangle are 3:5:7. If the perimeter of the triangle is 60 cm, then

find its area.

T S Bl YSd 3:5:7 & U | g AfE S & qfema 60 T %, A IEeh
CEENIEICEEAE I
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31 A solid metallic sphere of radius 21 cm is melted and recast into a number 2

of smaller solid cones, each radius 7 cm and height 3 cm. Find the number of

cones so formed.

g1 % U 39 T, foraen Bear 21 o &, & et 3% U9 3™ 9ig s oI
¢ R @ yds @ Broar 7 & ok S 3 o %) 3w ver e sigent g

A BT |

OR / a1yt

Curved surface area of a solid cylinder is two-third of its total surface area.

If its total surface area is 231 cm?, find its radius.

T 3 SO B Geh TSI Sl SHB P JSOIT SAEA Bl A—TeTs & | A I B
P ST %A 231 o T B, O SH! el S| Hifeid |

32 Find the median of the following data:

frfaiad tids! @1 AIfed S Hig:

25

35

45

55

16

24

15

33 Find the centroid of a triangle whose vertices are 4 (5,-2), B (9, 6) and

C 4, 5).

2

E UH e @ dwe Sa et fee i 4 (5, -2), B(9, 6) @ C (4, 5) Tl

69/MAY/4—211-B |
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34

35

36

Find the coordinates of a point which divides the line segment joining the

points A4 (—1, 3) and B (2, —3) in the ratio 1 : 4 internally.
s9 fag & Frdsties s @it S fargewt 4 (<1, 3) @1 B (2, -3) & fem arw @
G B 1:4 % o U § fawiiia e 2

ABC is an isosceles triangle with AB=AC and XAY is a tangent to the 2

circumcircle of A ABC. Show that XY is parallel to the base BC of the triangle.

ABC ts gafgarg e @ f5aw 4B = AC qan XAY Brs ABC % wiiga & fag
A 9 @t Y@ ¥ g9y f6 XY Bryw % e BC % 9y ¥

ABCD is a cyclic quadrilateral in which Z4=(x+2y)°, ZB=(5y—x)°, £C=2x° 2
and ZD=(x+y)°. Find the value of x and y.
ABCD t# ashig agyel &, fad L4=(x+2y)°, £B=(5y-x)°, £C=2x° qu

ZD=(x+y)°, x qUT y & W SAId BT

Find the LCM of P(X)=(x—2)(x2 —3x+2) and O(x)=x" 4. 2

P(x)=(x—2)(x2—3x+2) U O(x)=x>—4 B AF. T DU

OR / 31¥an

2

If x—l:Z, find the value of x2+L.
X X

1 1
gy x——=2 %, @ x2+—2 HT AW 3 BN
X X
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37 A man started a business with an initial investment of ¥ 5,00,000. In the 2

first year, he incurred a loss of 4%, however, during second year, he earned
a profit of 5% which in the third year was raised to 10%. Calculate his net

profit for the entire period of 3 years.

T AR o % 5,00,000 @1 9E AT Y TH ANR JE B gom av 7 3Ed
4% I 3313, Tafh O a9 H SEA 5% TN HA™T & fob Gk a9 7 gedt 10%
B TN O a¥ B OO Sty % Y I"eR A A1 S Sl |

38 Prove that the tangents drawn from an external point to a circle are of equal 3

length.
g @ifee fop fpelt smar farg @ g ) didt 18 @t et & wwgat g9 B ¥

39 If the mean of the following data is 8, find the value of p : 3

gfy fefaRaa ericel &1 w1eg 8 &, df p &1 AIF A BT

X, [3]5]7[911]13
F; 15[ p|8]4

]

40 Solve the following system of linear equations graphically : 3
frfaiad e Fiiee o™ & sodE fafy ¥ & iy -

x+y=5x-y=1
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41 The length of a rectangular garden is 3 m less than twice its breadth. If

the area of the garden is 77 m2, find the length and breadth of the garden.
T SAGR D Bl A5 3ab! a8l & g § 3 Hiel &9 §| afs Td &1 5%
77 o WX ¥, A A TR T deE 0 B

OR / a1yt

The base of a right triangle is 10 cm more than its altitude. If the area of the

triangle is 300 cm?2, find the sides of the triangle.

T THBIUT ST Bl ML 39 Nvs | 10 §HT 31fes &1 i 56 s &1 &%d
300 o ¥, Sl YT A DY
42 A solid iron spherical ball is melted and recast into smaller spherical balls

1
of equal size. If the radius of the smaller ball is 3 of the radius of the

original ball, find the number of smaller balls.

¥\ of 91 e @Y P are 2 ) R B % % o BH gt 9 e e AR

OR / a1yt
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A rectangular park is of length 30 m and breadth 20 m. It has two paths, each
of width 2 m, around it (one inside and the other outside). Find the cost of

paving the red stone on these paths at the rate of ¥ 50 per mZ2.

Teh SIATHR UTeh &l @arg 30 HieX & &R @ 20 WX §1 396 Il o & 9y
g, fe @ ude &l diers 2 WX ¥ (TH U &% 91eY # SR iR qERT Uik % 8fax
@Y M) | T 50 gfq ot Hiex & T ¥ 39 9 U o Sordl {98 &1 =99 3 diig |

43 The angle of elevation of a jet-plane from a point on the ground is 60°. 5

After a flight of 15 seconds, the angle of elevation changes to 30°. If the

jet-plane is flying at a constant height of 1500 /3 m, find the speed of the

jet-plane in km/hour.

I W &% TH g ¥ uH S oMM &1 3= Bor 600 Tl 15 Yhvs Hl ISH b UL
I BT 300 B AT B A Se—FmE 1500 3 HRX B oR A WX I @I

T, @ Sie—famm @ g fedi/aver ¥ s @i
OR / 3@

An aeroplane at an altitude of 1000 m observes that the angles of depression

of opposite points on the two banks of a river are 60° and 45° respectively.

Find the width of the river. (ﬁ =1.732)

T A 1000 HieX @i S U T@d g4 Ui § b foREl 6t % < fol % srfvm
fargell WX 99 gT oraw =T BT HE: 60° qAT 45° ¥ WG B AR T BT

(V3=1.732)
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44 Construct a triangle ABC in which 4B =5 cm, BC = 4.2 cm and median 5
CD = 3.8 cm.

s BYs ABC &1 W@ ifie, fad AB=15 ¥, BC=4.2 91 i wifege
CD=3.8 ¥4 =

OR / 3t¥an

Draw a circle of radius 3.2 cm. From a point P outside the circle, draw two

tangents PQ and PR to the circle.

3.2 9 oo &1 us g9 difaq) g9 & 9l Rud fag P 9 g9 @ & wel @
PO aur PR @ifau|
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This Question Paper consists of 44 questions and 22 printed pages + Graph Sheet.
39 YT 9 44 9o qor 22 i g + UH o R

Roll No. Code No. 69/ MAY/4
Set / AT — C
MATHEMATICS

(o)
@11)

Day and Date of Examination

(adren @1 oo 7 i)

Signature of Invigilators 1.

(Friverani & Twnen)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to
you.

All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 69/MAY/4, Set—|(C | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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A ST

1

2

el 9sT-UF % UEd U8 UX STUAT ShAIE oAy for |

FUAT YT Bl AT W 6 YT-UT b HA YS! qUT YA Bl Ia! & WA & fAaAr yem
U3 % G99 HUI BU &1 A 91 DI G W B o B YT s €9 H |

TS FeAt & Ul AR fawedt (A), (B), (C) Tam (D) ¥ € iE Uk SAX AT & e &

T SR-gRa ¥ o gE wux e |

JEIFTSE Ul & Tg—|q1e q Al & A (eiia oy & Wi & 37 € | awgire vt

% o o © 9wy 7@ fear smom)

ST ¥ TEaH-Tus a9 styan fidse Wl & Sfdiea wel Wi oTwaie foaay ¥

qeedt Bl AT SETEAT WA

AU § ol W Y & dde e gfaen o Rufa ¥ oS ergae & A BN

U FT—YRAHT T -9 &1 Bie 7. 69/ MAY/4, Fe—

C

ford |

(@) WU had /IS ® 31 6T oft, afy omw o) @ T & v el we won ®

I T T § ¢

Ui, ARTYY, STEHAT, TUTAl, B, T&hd i o=t

HudT IR-YRal H oy U gt ¥ fae 6 oy few W F I fow W@

(@) afe emg =Y e iUl & stfafie fpal oy s & SeR foed &, df el &l wHem
¥ BN arr Jfedt | Tt s e e Saehl g |

General Instruction / ™= 391 :

1. Answers of all questions are to be given in the Answer-Book given to you.

Ul 99T % AL SATYR! < T ITX GRaawT 7 & foed |

2. 15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y91 I Ue o 17T 15 feie o1 a9 feam man | oot a1 faaeor aue & 02.15 51 fomar
ST 1 02.15 1 & 02.30 St T BT bad 99797 & g 3i 36 1Aty & e J Sa—gRaa!

X B3 3 el feE )
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MATHEMATICS

T
Q211)
Time : 2% Hours] [Maximum Marks : 85
w21 wwe] [quiie : 85
Note : (i) This question paper consists of 44 questions in all.
(i1)) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section A consist of
(a) Q. No. 1 to 17 - Multiple Choice type questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of
the four options given in each of these questions.
(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
2 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28
carries 5 marks (with 5§ sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions
18 to 28.
(v) Section B consist of
(a) Q.No.291to037- Very Short Answer type questions carrying 2 marks
each.
(b) Q.No. 38 to 42 - Short Answer type questions carrying 3 marks
each.
(c) Q.No. 43 and 44 - Long Answer type questions carrying 5 marks
each.
fRar: () 39 99799 § $d 44 9T 2|
(i) af weT o F1
(iil) 9d® W & TEA ofp ¥ ™ ¥
(iv) @2 — & ¥ quf@ ¥ -
(a) UT-EE 1 ¥ 17 T& Tglashedd YbR & 99T ¢ ok Jds 1 3%
B %1 T 9 UUE 9T H RU T ar fgeedl ¥ 999 SugE (e
B I B @ B
(b) UsT-dEr 18 ¥ 28 T& IR YA & Ued & | yed—den 18 ¥ 27
qHh Th U9 2 b & & (YA 1 3ih & 2 IT-AWI & 9q1Y) oix
TG 28, 5 3ikl w1 T (IAB 1 3k b 5 SU-HFN & G1Y) | TIh
usT 18 @ 28 & fuu feuw g frdetf & oo wedi & wOx fa|
(v) @€ — @ ¥ qifE ¥

(a) U@ 29 ¥ 37 T @Y SAUT YH b A—aAA 3l b YT 2 |
(b) U@ 38 § 42 I @Y AU YA &b AF—dH b b U9 2 |
(c) vsT-—dedm 43 Ud 44 <6 ST YHR & UrE—urd 3fbf & YT 7|
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SECTION - A /9% — &

1 If sin(4-B)=0 and cos (4+B)=0, then the values of 4 and B

respectively are:

I sin (A-B)=0 TAT cos (4A+B)=0, @A A TA B &h HE: A &

(A) 459, 15° (B) 30°, 15°
(C) 45°, 30° (D) 459, 45°
2 The mean of first five multiples of 7 is:

7% YY9 Ui OIS Bl A &
(A) 20 (B) 21

© 22 (D) 25

R] The median of 10, 12, 14, 16, 18, 20 is:

10, 12, 14, 16, 18, 20 & |IES &:

(A) 12 (B) 14
) 15 (D) 16
69/MAY/4—211-C | 4 N A

[ Contd...



4 A die is thrown once. The probability of getting a number less than 3 is: 1

Teh UTET Teh 91X %hebl SIAT &1 3 9 B T G&AT U<l B i WIAehdT &

1 1
(A) 5 B) 3
2
© 3 (D) 0
5 The curved surface area of a cylinder of height 14 cm is 88 cm?. The diameter 1

(in cm) of the cylinder is:

T S, TEd! S 14 §9 §, B 9k T A%d 88 I THI & | IH I dl A

(A) 0.5 B) 1

<) 1.5 (D) 2
1—tan?45°

6 The value of — 5 s 1

1+ tan~ 45°

l—tan2 45°

————— @ WM &

1+ tan“ 45°

A) 1 B l

(A) B)

J3
(© 0 ©)
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sin2 22°+ sin2 68°
0052 22°+ cos2 68°

7 The value of [ +sinZ 63°+ cos 63° sin 27°] is: 1

[ sin2 22°+ sin2 68°

3 3 +sin2 63°+cos 63° sin 27° | &1 A9 ®:
cos” 22°+cos” 68°

A) 3 B) 2
©) 1 (D) 0
8 Total surface area (in cm?) of a solid hemisphere of radius 10 cm, 1

when w=3.14, is:

U S erefan, e B 10 & %, &1 pa g dwd (et T W),
wafs n=3.14, &:

(A) 840 (B) 842

(C) 940 (D) 942

9 If PQ is a chord of a circle with centre O and the tangent PR at P makes an angle 1

of 50° with PQ, then ZLPOQ is:

gfc uh g, fasr &5 45 0 §, & u& sien PO § 91 fog P WX @il W @y
@1 PR, a1 PQ & |IE 50° & B g 8, @1 LPOQ & AT ¥:

(A) 100° (B) 90°

(C) 80° (D) 75°
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10 7P and TQ are two tangents, from an external point 7, to a circle with centre O. 1

If ZPOQ=110°, then £ZPTQ is:

s g, fraer = fag 0 %, & I fog 78 7P qan 70 g9 & & wst Y@md

g1 afe ZPOO=110° qr ZPTQ o 99 &:

(A) 60° (B) 70°
(C) 80° (D) 90°
11  The curved surface area (in cm?) of a right circular cone of slant height 10 cm 1

and base radius 7 cm 1is:

TH @9 g i, foraent fode Sarg 10 9 qar emar e 7 9 %, & ok g

(A) 120 B) 140
(C) 220 (D) 240
12 Factors of 3x2—x —4 are : 1

3x2-x—-47% Z[UH'@'%' g

A (Bx—-4) (x-1)
(B) (3x—4) (x+1)
C© (Bx+4) (x-1)

(D) (3x + 4) (x + 1)
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13 A point whose x coordinate is negative and y coordinate is positive lies in: 1
(A) first quadrant (B) second quadrant

(C) third quadrant (D) fourth quadrant
s fog e x-Festie Fomes o y-Frestie oo §, 98 Rud @
(A) wgq agafy o B) fuda agufar &
(C) g agater H (D) =ge =gafer &

14 A person bought an almirah for ¥ 3250 and spent I 750 on its repair. If he sold it for 1
3 5,000, his gain percent is:
e AfeRd 7 TH ST T 3250 H @iy iR T 750 I AU W WH fHu)
I IE T A B T 5,000 F =T, A @0 Al &

(A) 16% (B) 20%
©) 25% (D) 30%
15 The coordinates of the origin are: 1
o fag & Fraens &
A) (1,0 B) (1, 1)
© (O, 1 D) (0,0
16 If2p+1, 13 and 5p—3 are in A.P., then the value of p is: 1

g 2p+1, 13 QAT 5p—3 TH GHIAX Il 9910 &, dl p & A &
A) —4 B) 3

©) 4 D) -5
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17 If an arc of a circle subtends an angle of x°© at the centre of the circle and )° at 1

any point on the remaining part of the circle, then the relation between x and y is:
afs foRET I 1 TH 919 I & Hs UX x° BT BV SN & 9T I % AW 9T &% fopdl
g X )° & BT AW R, A x qUT y B GG &

(A) x=2y

B) y=2x

©) x=y
D) x+y=0

18 Match Column-I statement with the correct option of Column-II : 2
Column-I Column-II
(i) The coefficient of y in the linear (A) 0
equation 52x—4)+3x+4y—-7=01is :
(i1)) When y =3 is expressed in the form (B) -3
ax + by + ¢ =0, then the value of a is:

<© 4

WA % HIT B W11 & Fel [qehed & g FaE i
-1 wWH-11

(i) g THHW 5Q2x—4)+3x+4y-7=0 (A) 0
o y @I T ©

() G y=3 @M ax+by+c¢=0% &7 ¥ o (B) -3
15702 | L P |

<€ 4
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19  Write "True' for correct statement and 'False' for incorrect statement : 2

(i)  The graph of the linear equation 2x — 3y = 6 intersects the y-axis at the

point (0, 2).

(ii)) The graph of x =2 is a line parallel to x-axis.

T B & T T’ o Tad ®Ud & fow ‘sraer’ fufaw -
(i) XRgew FHHI 2x — 3y = 6 & @ y—3& & 5 (0, 2) I Y=g HIAT 2 |

() x=2 @1 M@, x—37e % THAY Teh W@l &l

20  Write 'True' for correct statement and 'False' for incorrect statement : 2

(i) Ifachord of a circle is equal to the radius of the circle, then the angle subtended

by the chord at a point on minor arc is 30°.

(i) If the tangents PA and PB from an external point P to a circle with centre O

are inclined to each other at angle of 80°, then £POA is 60°.
&l BT & [T G 3R Tod HYA & o ‘era fafaug

(i) afc FpEl IT DI TH Sien ITDb! 5901 & GAE ¢, A 39 SEr g0 g 99 W
faftfa @i 300 ¥

(i) aft we ga fee &= 45 0 %, & s fog P & @ wef Y@ P4 qan PB

L@ 80° T IV g &, dl LPOA &1 |19 60° B
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21  Fill in the blanks : 2
(1)  If the distance between the points 4 (0, 0) and B (x, 3) is 5 units, then the value

of x is
(i) If the mid point of the line segment joining the points (x, 4) and (5, 12) is
(4, 8), then the value of x is

e et @1 gid ity
() afs fagant 4(0, 0) q&M B (x,3) & /g & g 5 THE &, O x B 99
2l
(i) afy fagart (x, 4) T1 (5, 12) @ S a9 @1 @S & 79 45 (4, 8) T,
ar x & AW gl
22 Match Column-I statement with the correct option of Column-II : 2
Column-I Column-II
(i)  If the roots of the quadratic equation (A) 3 and 4

(a—3)x2 +4(o—3)x+4=0 are equal and (B) 4and >

real, then the value/s of o is: <) 2
. 1 :
(i) If x= 5 isa root of the equation (D) 6

5
x? +kx_Z: 0, then the value of k is:

WH-1 % BUT B @WH-1l & & fqeed & @y e Bt

w|H-1 ESim | |

()  ofE faend R (0 —3)x? +4(0—-3)x+4=0 (A) 3Td4

% I g9 T ardiad €, d o B 9E &/ (B) 4TH S
i) af v=, @l ke =0 © 2
® TH 9d &, al k B AW & (D) 6
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23  Fill in the blanks : 2
(i) 20t term from the end of the A.P. 3, 8, 13, ... 253 is

(i) If the first term of an A.P. is 5, last term is 45 and the sum of all terms is
400, then the number of terms of the A.P. is

o Tt @1 gid ik -
(i) T9aY SE 3, 8, 13, ... 253 & 3@ ¥ 204 U T
(i) T Uep GHaX I &1 YYH Ug S5 ¥, oifqm Ug 45 ¥ oM A & @y Ui &
ART 400 &, o GHiAX 9T & Ual & T T
24 Fill in the blanks : 2

(i)  The 20t term of the A.P. 2, 7, 12, ... is
(i1)) The sum of first 10 terms of the A.P. 9, 7, 5, ... is

o et & gfid #if
() FHER SE 2, 7, 12, ... &1 204 9% gl
() FHGT FE 9, 7, 5, ... % GUH 10 T& @1 AT I
25 Write '"True' for correct statement and 'False' for incorrect statement : 2

(i) Two dice are thrown together. Probability of getting prime number on

2
both dice is 3

1
(i1)) Two coins are tossed simultaneously. Probability of getting no tail is 5

el %I % [0 g iR Tod 99 & oy ‘e farey -
(i) 3 U UH T %eh S0 & | IAN GG YR STAT T U HIA Bl WIiyehdT

2
E%I

(ii) ﬁmwwamaﬁ%ﬁéwﬁwaﬂ%aﬁuﬁwé%
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26 Fill in the blanks : 2

(i) PAB is a secant and PT is a tangent to a circle. If PT=x cm, PA =4 cm and

AB =5 cm, then the value of x is
(il)) AB is a diameter of a circle and XPY is a tangent to the circle at point P.

If £ZPBA=30°, then ZBPY is

e Tt @ gfd it
(i) U Id B Wt W@ PT T B3% @1 PAB & 1A PT=x A, PA =4 1 q
AB=5 9, df x & AW gl

(i) % IO & Uh AW ABT T I & 45 P T IJ &I o Wl @ XPY 2|

gfe ZPBA=30°, dl ZBPY @ HIU gl

27  Fill in the blanks : 2
(1) Ina AABC right angled at C, if AC=4 cm and AB =8 cm,
then ZA4=
(i) Ina AABC right angled at B, if BC=5cm, /BAC =30°,

then AB =

e @t @1 gfd ity

(i) Tk AABC, TS £C=90°, afy AC =4 9= qu1 AB =894I,
dNL4=

(i) Tk AABC, Tad £B=90° afy BC=5a", LBAC =30°,

qr 4B =
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28 Cost of a washing machine is ¥ 19,400, but due to Diwali Festival Sale it is

available for I 4,200 cash down payment followed by three equal monthly instalments.

Shopkeeper charges interest at the rate of 16% per annum under this instalment plan.

On the basis of the above information, answer the following questions:

Let the amount of each equal instalment be T x, then

(1) Total interest paid under the plan is:
(A) T (3x—15,200) (B) I (2x-15.,200)
(C©) T (x—15,200) (D) T (15,200 —x)

(il) Amount owes by the buyer to the seller for 15t month is:
(A) < 4,200 (B) < 19,400
(C) % 15,200 (D) R 11,000

(iii) Amount owes by the buyer to the seller for 374 month is:
(A) X 15,200 (B) (15,200 —x)
(C) (15,200 - 3x) (D) R (15,200 —2x)

(iv) Total amount paid by the buyer under the instalment plan is:
(A) T 19,400 (B) R 15,200
(C) (4,200 + 3x) (D) T (19,400 —x)

(v)  Amount of each instalment is:
(A) 4,200 (B) 4,600

(C) T 4,800 (D) T 5,200

69/MAY/4—211-C | 14 1 000
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T T A @1 qed 19,400 §, 9] ol ©ER Ad % BT I8 A T 4,200

I A AT A G J1e fohel § SU@ed 5 | 39 foht ASTT & ST<Iid §ha
16% efities <X | =arel well 2 |

Sudad FaT & UR WX Efaiad gsl % gav dfe

A WINT Y 99 fheq ol TRT T x 7,

(i) 39 deT & Srtd YA fRT T e @ e i §
(A) T (3x—15200) B) T (2x—15.200)

(C) T (x—15,200) (D) T (15,200 —x)

(i) w99 7MW ¥ Ued &0 fashdr & <7 99 AT T

(A) T 4,200 (B) ¥ 19.400
(C) 15200 (D) ¥ 11,000
(iii) WY TEW ¥ UEd g fashar & 37 e iy T
(A) 15200 (B) ¥ (15,200 —x)
(C) ¥ (15,200 - 3x) (D) T (15,200 —2x)
(iv) Rped OIS & ST<TId UTeeh &1 YA @l 15 $el A 8
(A) ¥ 19.400 (B) ¥ 15200
(C) T (4.200 + 3x) (D) T (19.400 —x)
(v) ud% o @ i %
(A) T 4,200 (B) T 4,600
(C) T 4.800 (D) T 5,200
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SECTION - B /@% — @

29 A solid metallic sphere of radius 21 cm is melted and recast into a number 2

of smaller solid cones, each radius 7 cm and height 3 cm. Find the number of

cones so formed.
Td % U 319 T, el B 21 o ¥, @l fadme 3% U 3 g 9 S
¢ T @ @ @ B 7 991 iR g 3 oW ¥ 39 YR MR sigett @ g
1A I |

OR / s

Curved surface area of a solid cylinder is two-third of its total surface area.

If its total surface area is 231 cm?, find its radius.

T 3 I Bl ah IO &A%A SHP HA IO &AGA Bl AI-faels o | Afg Sa ol
P T &AEA 231 o A §, A1 Ig! B T S|

30 A bag contains 3 blue, 2 white and 4 red balls. One ball is drawn at random 2

from the bag. Find the probability of getting:
(1) a blue or white ball

(ii) not a white ball.

g I H 3 A, 2 ghe iR 4 @ e ¥ O H ¥ s T Argesdr el S
3| Frfafad & ura w3 @1 TiRieedr S it

(i) Us Tl AT A% g
(ii) U g < G%a 7TEl Bl
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31 Find the median of the following data: 2

frrefefaa stiwsl &1 wiftas sa S

J; | 81016 (24 |15| 7

32 ABCD is a cyclic quadrilateral in which Z4=(x+2y)°, £ZB=(5y—x)° £C=2x° 2
and ZD=(x+y)°. Find the value of x and y.
ABCD tw# @%@ aq4s &, fad £4=(x+2y)°, £B=(5y—x)°, £C =2x° qel

ZD=(x+y)°. x 941 y &% HF A AT

33 Find the perimeter and area of the sector of a circle of radius 14 cm and 2
central angle 30°.
% gq, fee) e 14 39 %, & 1t 08 freaave @ afe ofR dewd s #ifig
TSt =g @it 300 7|
OR / 3@t

The sides of a triangle are 3:5:7. If the perimeter of the triangle is 60 cm, then

find its area.

T YW Bl YSd 3:5:7 & U H g AfE S & qfema 60 T %, A IEeh
&St S DI |
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34

33

36

Find the centroid of a triangle whose vertices are 4 (5, -2), B (9, 6) and
C4,)5).

s U e & Fe i s fad sl 4 (5, -2), B(9, 6) aur C (4, 5) ¥l
OR / e

Find the coordinates of a point which divides the line segment joining the

points A4 (-1, 3) and B (2, —3) in the ratio 1 : 4 internally.

34 farg % Trdetias sma ifste <t famgatt 4 (—1, 3) da1 B (2, —3) & fra™ am @
ge @l 1:4 % o U & fawiford wear ¥

ABC is an isosceles triangle with AB = AC and XAY is a tangent to the

circumcircle of A ABC. Show that XY is parallel to the base BC of the triangle.

ABC s gafgarg e @ fa 4B = AC qan XAY Bs ABC & wiiga & fag
A o st Y@ ¥ Iz fF XY Brge % emar BC % 9wy ¥

A man started a business with an initial investment of ¥ 5,00,000. In the

first year, he incurred a loss of 4%, however, during second year, he earned
a profit of 5% which in the third year was raised to 10%. Calculate his net

profit for the entire period of 3 years.

g AR | % 5,00,000 @ 9w FET Y TH AUR JE e gem av 7 sEd
4% I 3312, Tafeh gEX a9 H SEA 5% TN HA™ oA fb X a9 F gewt 10%
BT A 9 @l U e@afy & fg I8 $A @mH T diteid |

2
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37 Find the LCM of P(x)=(x-2)(+* -3x+2] and O(x)=x"-4.

P(x)=(x—2)(x2—3x+2) T Q(x)=x> -4 H AH. Q@ BT

OR / 31¥an

1
If x——=2, find the value of x2+L2.
X X

1 1
It x-—=2 T, @ X2 +— @ AE TG B

x2

38 If the mean of the following data is 8, find the value of p :

gfy frfafaa ericesl &1 91eg 8 &, df p &1 719 3 BT

X, [3[5]7]o11]13

F|6(8[15|p| 8|4

39 Prove that the tangents drawn from an external point to a circle are of equal

length.
g @ifee fop fopelt smar farg & g )X Eid 18 @t Yt @1 wvgat g9 B ¥

3
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40 A park is in the shape of a quadrilateral ABCD in which 3

ZC=90°, AB=9m, BC=12m, CD=5m and 4D =8m. Find the area of the
park.

TH U Uh UE agqgd ABCD & R H ¥, fores

Z/C=90° AB=9 dex , BC =12 Hiex , CD =5 fiex aur AD =8 Hex | Uh @l

B T DI |

OR / a1yt

The length and breadth of the floor of a room are in the ratio 5:3. The
cost of decorating its four walls including doors and windows at the rate of
T 20 per m? is ¥ 3200. If the height of the room is 5 m, find the cost of flooring
the room at the rate of T 200 per mZ.

T HAL DT Bl B FAE qAT DS BT S S : 3 T It ud Rasfrat afed 3@
HAY Dl AR ARl % T 20 9 ol qieX & 3 ¥ g @ =7 T 3200 ¥ A HAY
H Hars S5 WX T, @ T 200 wfa ol Hex @ X 59 B & Bl AN & ="

A BT |

41 Solve the following system of linear equations graphically : 3
frrfareaa Yas gt el & o™ a9y ¥ &4 Sy ¢

x+y=5x-y=1
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42 The breadth of a rectangle is 7 m less than its length. If the area of the 3

rectangle is 120 m2, find its length and breadth.

Teh 3T bl AISTs IHB! @als § 7 HIZT ®H 3| A 3d &l &57hd 120 T He
T, A TP @a1E qUT DEE T BT

OR / a1yt

The length of the hypotenuse of a right triangle exceeds the length of the base
by 2 cm and exceeds twice the length of the altitude by 1 cm. Find the length

of each side of the triangle.

T THHBIVT TS b B Dl @S, SHb SR DI @aT3 § 2 A q7 STvds ol das
% A A 1 T oI 51 °9 BT & Ude S G @95 T i

43 Construct a triangle 4ABC in which AB =5 cm, BC = 4.2 cm and median 5

CD=3.8 cm.

h B ABC 1 @ s, s 4B =5 @, BC=4.2 ¥ o mfiaa
CD=3.8 &4 =1

OR / 31¥an

Draw a circle of radius 3.2 cm. From a point P outside the circle, draw two

tangents PQ and PR to the circle.

3.2 91 e @1 uh 99 @itaul g9 % 9] Rud f§g P 9 99 &1 &1 Wl Y@
PO a1 PR ®ifau)
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44 The angle of depression of the top and the bottom of an 8 m high building 5
from the top of a multi-storeyed building are 30° and 45° respectively. Find
the height of the multi-storeyed building and the distance between the two
buildings.
Ueh Sg—HTe Had &b R1EX & U 8 HeX $d WA & X Ud g & SraTHT Bl
AT 300 TE 450 ¥ | 95— HaT @ SHars agT &Ml WaAl & S B QU 9
BT |

OR / 31yt

The angles of elevation of the top of a tower from two points P and Q at
distances a and b respectively from the foot of the tower and in the same

straight line with it are complementary. Prove that the height of the tower is

Jab .

Teh HR o 91E H a 991 b &1 Al 9 T & @1 9w waen Rud fagstt P aar O
Y 3@ W HAR & Rre & I=1a S g uie o1 | g S fp Fer @ Sarg

Jab %)
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Roll No.
HIFATER
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